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Answer ALL questions.

Some questions must be answered with a cross in the box X. If you change your mind about an
answer, put a line through the box 2¢ and then mark your new answer with a cross X.

1 Figure 1a shows the market for coffee.
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(@) (i) InFigure 1a the shift in the supply curve from S to S1is most likely to have
resulted from
)]

an increased preference for coffee by consumers
improved technology in the coffee industry

an increase in the wages of coffee plantation workers
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a fall in consumer incomes
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Since October 2014 global coffee prices have been on a downward trend.

o
28
L
X
S

¥

)
o

o
o

et

*
.

o

(ii) Identify and briefly explain one demand factor which might have led to this
downward trend in prices.
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(iv) Explain the difference between price elastic and price inelastic supply. Use
appropriate diagrams to illustrate your answer. Draw your diagrams in the

space provided.

Price

(5)

Price

Explanation

Quantity Quantity
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) Briefly explain what is meant by the economic term scarcity.

(b) (

(2)

) The economic problem means decisions need to be made about:

(

(1)

[J A Whatto produce, How to produce, For whom to produce

O

B What to produce, When to produce, For whom to produce

[J € Whatto produce, How to produce, Where to produce

The UK has recently discovered a new energy source called shale gas.

(

) Annotate Figure 1b, the production possibility curve for the UK, to indicate

the discovery of shale gas in the UK.

(1)

spoob Jswnsuo)

Capital goods

Figure 1b
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(iv) Assess the likely effects on the UK economy of the discovery of shale gas.
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Figure 1c shows public sector employment in Greece in 2009 and 2013.
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Public sector employment in Greece
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(i) Referring to the data in Figure 1¢, describe what has happened to public
sector employment in Greece.
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(

In 2015, public sector bank workers in India called off a strike after a wage
increase was agreed.

(Source: http://www.financialexpress.com/article/industry/
banking-finance/public-sector-bank-workers-call-off-strike-after-pay-deal/46485/)

(iii) A wage increase for public sector bank workers in India will lead to
some public sector bank workers losing their jobs. Do you agree with this
statement? Give reasons for your answer.

(6)

(Total for Question 1 = 30 marks)
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(iv) Identify one possible example of a fixed cost for a taxi firm.
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(vi) The taxi firm charges an average of £11 per taxi journey. Calculate the
expected total profit if the taxi firm makes 2,000 journeys in a year. Show
your workings.
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(b) (i) With the aid of a diagram, distinguish between internal economies and
diseconomies of scale. Draw your diagram in the space provided.
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(i) Assess the importance of external economies of scale to firms. Illustrate your
answer with examples.

o
28
L
X
S

¥

)
o

o
o

et

*
.

o

(6)

o
‘A

A

o

e
ils
"L

o

K x
e

o

¥y

O
4
B
X
Lol
eyttt

L
(\

3,
)
S

ey
2
Y
iy
Piiel,

s

-
<

.,

"

<
T4

s
v

s

,

>
Iyt

K,
b
falets

o

e
o

o
LI

A

o
o,

¥

ot
el
B
B
¥
8

<
el
I

L

A

&a

3

T
Iyt
byte!
byt ety
o
S
betatels

0
R
2
%3
o
%
%
5

e

X
.0
‘0

T2
S
otetstels

NN

N
R K R KKK

o

L
"

e
betely
et
L
e

M
W
ot

Mt

>

e
i

o
4
o

e
i,
‘9
a

ot
2%
5%
e
%5

o

ol
ol
Petatetels!

gt
%
et

o
NN

S
geione

o
o
>

)

e

e

4

<
%
K
o
5

£
25
5
i
X

oy,

-
o
&
&
)

ot
.‘9:
I,
2%

o
L
a,
‘o
o

o
&

.
e
X
r

et

v,
s
el

<y’

e
2

N

oy s
S

3,
e
petet

o

o

e

S
&

bel

ot
platst

A
e
LR
y i | ¥

E:
*
.

SR
¥
1
ES
2!

il
3
]
#
it

Q0
253
LN
SR
I
g
&

ol

<
ol
bkl
Sttty

R
AL

B
o

.
L
5
bl
qﬁ

oot
o
o

£
0
T
N

i
"

ety
i

et

hytoly

betats,

L,
otatt

K
9%
&,
f

&

M X
S

A

o
"

£
it
)
" é

)

¥

*

S

e

bt
5
X%
etetels
bty

:ﬁpo
bl
Pitatels!

"
N

o
)

O e

-
ole!
Sl

“
i

*

L
"

fate
K -
é'

o

o

o SIS o

0
e
oy

ot

o
a

.

>

o
SRR
=
2,
it

"

5
23]
L

o
"

et
>
4
o

e
i,
s,
‘.

i
o5
-
it
508

€5

L5
i

i
o
<

el

ool

.
‘o
Lt
.’
o

s

o

ote!
!
ool

ool

o
e
KK

it

o0

o

P
2

>
&
o
&

25
Iatele’s
S
itels!
ottt

i

o
>

il

B

o
o

i
rots
&5
%

W
b

<

o
L
£
i

‘7

“
&
o
o
oot

1

R 0 O 0 Turn over »
P 4 5 91 5 A 01 1 2 4 urhove



www.gradesuk.com

r

(c) (i) Social benefit is
(1)

[1 A social benefit = private costs + external costs
[l B social benefit = private benefit — external benefit

[0 € social benefit = private benefit + external benefit

Crossrail will be a new railway line running across London from west to east. It is
due to be completed by 2018.

(i) Identify and briefly explain one possible private benefit of a transport project
like Crossrail.

(i

ii) Identify and briefly explain one possible external benefit of a transport
project like Crossrail.
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The Chinese government wishes to discourage economic activity that results in
external costs to society. Car pollution is a significant external cost in Beijing.
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(iv) Evaluate two measures the Chinese government could use to minimise the
external costs resulting from car pollution in Beijing.
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r

3 (a) (i) Define the term economic cycle.

Figure 3 shows Gross Domestic Product (GDP) quarterly growth rate in Spain from
2012 to 2015.

Spain GDP Growth Rate
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—
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% change
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(Source: www.tradingeconomics.com / National Statistics Institute)
Figure 3
Between July 2012 and July 2013 Spain experienced a recession.

(i) With reference to the data in Figure 3, explain what is meant by the
term ‘recession’.
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(i

i) Identify one characteristic of recession.
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During 2013 the Spanish economy entered a period of positive economic growth
as measured by GDP.

(iv) Identify and briefly explain two limitations of GDP as a measure of
economic growth.
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(v) Expansionary fiscal policy will always stimulate economic growth. Do you
agree with this statement? Give reasons for your answer.
(6)
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(b) (i) Identify and explain two functions of money.
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(iv) Examine two negative consequences of a sustained period of inflation for the
Spanish economy.
(6)

(Total for Question 3 = 30 marks)
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(vi) Briefly explain the likely impact of an appreciation of a country’s currency on
its imports.
(3)

(b) (i) Identify and briefly explain two activities of the World Trade Organisation.

(ii) What is a trade bloc?
(2)
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(a)
~
.

) What is meant by international debt?
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(ii) To what extent is aid to a developing country likely to lead to an increase in
that country’s standard of living? Give reasons for your answer.
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